Foundations of Math 9
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Section 2 - Informal Check-In — Lock These Concepts Down

Write the following out as repeated multiplication
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Will the following be negative or positive answers, why?
_.-/ G 4 3 ’,/
’ /AR L ~(-3)}
[ exp B, F
x F / ) o0 Cxpcrait
neg (A o )
\ FN hes in beaddads
2NN b ;Li.:c,p‘{ri
SU | Moy —
|
- .I. F-_: [-_‘.
. \ ) e o~
/,—---‘.\.. ..:'I\_j o |
)
o nlh no pfecedds ((ee)
N .




Foundations of Math 9

Simplify the following, leave answers as a base an exponents.
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Solve the following and get a final answer without exponents.
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